
Calculus- Lecture 29

Example

Calculus

Limit and Continuity

Evaluate Ltn→zf" ' if it exist
where flu >

= {
k - [it n< a

4 N=2

3k-5 N > 2

tt n - IN

mad I

= Lim n - Lt [at 2-s 1
us

ni n→ 2-



= him (2-8)-(2-1) [ :
'

dim flat . Limca -styn→a
- s→o

s→o

[ : dim (a) = (a- D)
n→a

-

=
2-1=1 .

tim fcn ) = 1
. -10

✗ →2-

dim
n→z+

fth ) = him 13N - 5)
R→zt

{ ÷LIa+fW=tim
= him (312+8) - 5) s→o

flats))s→o



= 3.(2) -5=1
.

Lim
n→z+
ft ) = I

-④

from ① and④

dim flu )= dim flu 1=1
.

✗→ 2- n → 2-1

dim flu 1=1 . ✓
N→ 2


